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12.

Instructions for the Candidates

Write your Roll Number in the space provided on the top of this page
as well as on the OMR Sheet provided.

At the commencement of the examination, the question booklet will
be given to you. In the first 5 (five) minutes, you are requested to
open the booklet and verify it:

(i) To have access to the Question Booklet, tear off the paper seal
on the edge of this cover page.

(ii) Faulty booklet, if detected, should be got replaced immediately
by a correct booklet from the invigilator within the period of
5 minutes. Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given.

(iii) Verify whether the Question Booklet No. is identical with

OMR Answer Sheet No.; if not, the full set is to be replaced.

(iv) After this verification is over, the Question Booklet Series and
Question Booklet Number should be entered on the OMR Sheet.

This paper consists of One Hundred (100) multiple-choice type
questions. All the questions are compulsory. Each question carries
two marks.

Each Question has four alternative responses marked:

@ @ @ . You have to darken the circle as indicated

below on the correct response against each question.

Example:@ . @ , where @ is the correct response.

Your responses to the questions are to be indicated correctly in the
OMR Sheet. If you mark your response at any place other than in
the circle in the OMR Sheet, it will not be evaluated.

Rough work is to be done at the end of this booklet.

If you write your Name, Phone Number or put any mark on any part
of the OMR Sheet, except in the space allotted for the relevant
entries, which may disclose your identity or use abusive language or
employ any other unfair means, such as change of response by
scratching or using white fluid, you will render yourself liable to
disqualification.

. Do not tamper or fold the OMR Sheet in any way. If you do so, your

OMR Sheet will not be evaluated.

You have to return the Original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with you
outside the Examination Hall. You are, however, allowed to carry
question booklet and duplicate copy of OMR Sheet after completion
of examination.

Use only Black Ball point pen.

Use of any calculator, mobile phone, electronic devices/gadgets
etc. is strictly prohibited.

There is no negative marks for incorrect answer.
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PaPEr 11

(PHILOSOPHY)

1. The individual soul is essentially of the nature
of knowledge or JAanasvaripa, and is also the
substratum of knowledge. This notion is upheld by

(A) Nimbarka
(B) Vallabha
(C) Madhva

(D) Ramanuja

2. Which among the following theories are related
to William James?

1. Stream of consciousness
2. Voluntarism
3. Pluralism
4. Pragmatism
Codes:
(A) 1and?2
(B) 1,2and 3
(C) 2,3and 4
(D) 1,2,3and 4

3. Match List I with List II and select the correct
answer from the codes given below:
List-1 List-11
(a) Sreyas and Preyas (i) Ramanuja
(b) Sabdavivartavada (i) Jaina
(¢c) Bhakti-prapatti (ii1) Bhartrhari
(d) Triratna (iv) Vedas and
Upanisadas
Codes:
(@ () () (@
(A) @(v) @) (@) (i)
B) (v) (1) (@) (ii)
(© () @) (@ 3Gv)
D) Gv) @) i) (i)

09-11

1. GRN 89 G@vFe
AoV (AR FIT—

(A) T
(B) d@re
(C) 7y
(D) AIeE

TAfFS ?

1. oA 242

2. ERRAM

3. I2gdmM

4. Qo[
PO
(A) 14932
(B) 1,293 3
(C) 2,394
(D) 1,2,3 934

Oiferer-1
(a) (R Q3R (2T )
(b) *HTISAW (ii)
(c) Sfeglfe (iii)
(d) fo=rg (iv)
IRCPO :

(@ () (¢ (@
(A) (v) (i) () (i)
B) @Gv) @) G (ii)
©) G i) @) (@(v)
D) Gv) () (i) (i)
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4. Which one of the following schools belives that
svarga is attained by the performance of sacrifices?
(A) Samkhya
(B) Yoga
(C) Advaita Vedanta
(D) Piarva-Mimamsa

5. According to Ramanuja, the term nirguna, which
is used to quality Brahman, signifies that Brahman—
(A) does not have any guna
(B) is not simply constitued by guna
(C) does not have any heyaguna
(D) None of the above

6. Match List I with List Il and select the correct
answer from the codes given below:

List-1
(a) Vedantasara

List-11
(i) Dignaga
(i1) Sadananda
Yogindra
(iii)) Uddyotakara
(iv) Prasastapada

(b) Pramana-
samuccaya
(¢) Nyaya-Varttika
(d) Padartha dharma
Samgraha
Codes:
(@ () (© (@
(A) () (@) (ai) (@v)
B) @Gv) () (@) (ii)
(© ai) @) (@G 3Gv)
D) () @) (i) (1iv)

7. Which of the following methods are admitted as
means for self-realization by the Advaita Vedantins?
(A) Yama- Niyama- Asana
(B) Dharana- Dhyana- Samadhi
© Sravar_la— Manana- Nididhyasana
(D) Maitri- Karuna- Upeksa

X4

4, fxfefde sremy ofem S @ Tewr s
TR (@ FofAS T AT TS SRR 712

(A) R
(B) sl
(C) Sitaecavie

(D) =&

5. S See ‘e siwib, 71 g [Redfre T4
o) TS T, o @ T —

(A) @ 9fze

(B) (FIeTIlg @l =Rl 3B T
(©) = e

(D) THAET @FIAIDE T

6. ©fFFLl G932 Ol O (ST (el @9 e
2ATE S LT I AT (S ez 564 |

Oiferer-1 ©iferer-11
(a) [FASNT () Tweia
(b) & 7T (ii) % @I5N®
(c) 7 NfesF (iii) SrweF
(d) o7 47 797 (iv) erEsim
IRCPO:

(@ () (¢ (@
A) () @ a6 @)
(B) @(v) (i) (@) (iD)
©) G i) @ (@Gv)
D) @) @) 3Gi) @Qv)

7. el smfosfem g @t StreEmEEl]
e ST fBEiE T e 2

(A) T ol St
(B) «i=ell- 4y~ 7nify
(C) 3o~ ooy~ felfrepoteT

(D) Q- el Sl



8. Which one of the following is not accepted by
the Mimamsakas as a category?

(A) Substance (Dravya)
(B) Inherence (Samavaya)
(C) Quality (Guna)

(D) Action (Karma)

9. What is the probability of getting 12 when
rolling two dice?

(A) 1/12
(B) 1/36
() 1/8
(D) 1/16

10. ‘Every entity has infinite number of properties’
(‘anantadharmatmakam vastu’) — this view is
advocated by the

(A) Jainas

(B) Carvakas

(C) Nyaya- VaiSesikas
(D) Samkhyas

11. ‘Thebluecolourisnothing butthe consciousness
of blue’.— This statement expresses the theories of the
(A) Madhyamika
(B) Yogacara
(C) Vaibhasika
(D) Sautrantika

12. ‘Avikrta- Parinamavada’— is the view held by
(A) Suddhadvaitins
(B) Advaitins
(C) Dvaitins
(D) Mimamsakas

X-5

I 12
(A) @
(B) @
(C) wd
(D) =

ST F© ?
(A) 1/12
(B) 1/36
©) 1/8
(D) 1/16

(A) o

(B) BI&=

(C) TR @
(D) AR

(I (el SRR ©G 2
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(D) ST ool

09-11

8. T=fRe @b TmiTs e s FHg

9. [T (R G THIE G BIETE 12 21

10. TSR T8 — @3 Tofb (oAIFe FH—

11. e 3 T e wfofie g 997 | @2 Ie

12. e sifFeam ogba TLs—

[ Please Turn Over ]



09-11
13. Which one ofthe following fallacy is committed
in the example— ‘Air is heavy, because it is empty’?
(A) Asiddha
(B) Viruddha
(C) Satpratipaksa
(D) Savyabhicara

14. Match List I with List II and select the correct
answer from the codes given below:

List-1 List-11
(a) Advaitavada (i) Ramanuja
(b) Dvaitavada (ii) Sankara

(¢) Dvaitadvaitavada (iii) Nimbarka
(d) Visistadvaitavada (iv) Madhva
Codes:
(@ () (¢) (d)
(A) () (iv) (i) (1)
B) (i) (i) @Gv) (@)
(©) (@v) Gi) () @)
D) (1) i) (i) (@{Qv)

15. What does astikaya mean in Jaina philosophy?
(A) Extension in time
(B) Extension in space
(C) Extension in body

(D) Extension in nature

16. ‘Khyativada’ according to Indian Philosophy
means:
(A) Theory of error
(B) Theory of truth
(C) Theory of knowledge
(D) None of the above

X-6

13. R @7, RO O ¥ — 2 SN

YIS T @ ey ?
(A) =Iibmm
(B) o=
(C) vedfos
(D) Rt

o

o

[«

ﬁl?ﬂ ©

14. ©fee1 932 OfFH-11 93 (@ @Ee G @y

TG ALFS LT I AT (&IC ez el |
-1l

Oiferer-1
(a) wCgeaT () e
(b) (ge7 (i) *==
(c) (FoicaeT (iii) =

(d) RMEgiEeam (iv) SR

RPO:

(@ () (¢ (@
(A) (@) (@v) (i) @)
(B) (i) (i) @v) ()
(©) Gv) (i) @G (1)
D) @) @) 3Gi) @Qv)

15. Tow Wt SifEz Ie0e < @RI

(A) FEE [BER
(B) o+ *ew
(C) M7 [Ri=
(D) zigfen faam

16. ST Wi fea7 Iace @R

(A) = FifFS oM

(B) g TS Toqm
(C) & 7i{Fe Toam
(D) ToEe @EioE w9



17. Which fallacy occurs when the locus itself is
unreal?

(A) asrayasiddha
(B) svarapasiddha
(C) savyabhicara
(D) viruddha

18. Which of the following pair of schools accepts
Upamana as an independent pramana?
(A) Samkhya and Vedanta
(B) Buddhism and Nyaya
(C) Vedanta and Purva-Mimarmsa
(D) Purva-Mimamsa and Yoga

19. Identify the correct combination:
(A) Mayavada- Anatmavada
(B) Ksanikatvada- Atmavada
(C) Anatmavada- Pratitya samutpada
(D) Vivartavada- Anityavada

20. Which among the followings conditions is
violated in the sentence — ‘Water the plant with fire’
(Vahnina Sificati)?

(A) Akariksa
(B) Sannidhi
(C) Yogyata
(D) Tatparya

21. According to Samkhya purusa is
(A) Conscious and active
(B) Conscious and indifferent
(C) Unconscious and active
(D) None of the above

X-7 09-11

17. =7 wifeg =1l i Fefrie @im o 232
(A) IR
(B) F=ollPE
(©) fesiz
(D) ==

18. fawfefe oM (EeskR S @t Cav
& FOF 2N Tl FAF FCE@ 2

(A) AR R (@G

(B) (@& @I R

(C) @M IR ST
(D) SFLN @3 @9l

19. 5= (oot Hize e ¢
(A) J<7 — ST
(B) Fawexr7 — g7
(C) FIIGAT — SSTSPTIANT
(D) [RFe97 — wifyerrs

20. 7RI ET67 31 (el Pieefs) —ag Amiva
CF0g RS @i =1 wieae zEm e

(A) SIies
(B) Affd

(C) @isfrs
(D) Sie

21. AR NS 777 &
(A) (GO @3 TS
(B) (5o G TR
(C) SIHod G TS
(D) TR IR

[ Please Turn Over ]



09-11
22. The book ‘City of God’ is authored by
(A) St. Augustine
(B) St. Thomas Aquinas
(C) St. Anselm
(D) William James

23. Who among the following philosophers

advocated the ontological argument for the existence
for God?

(A) St. Thomas Aquinas
(B) St. Augustine

(C) St. Anselm

(D) Socrates

24. Match List I with List II and select the correct
answer from the codes given below:

List-1 List-11
(a) Thales (i) Air
(b) Pythagoras (i) Harmony of the
opposites

(c) Anaximenes
(d) Heraclitus
Codes:

(@ () () (@
(A) (i) (v) @) (1)
B) (i) (v) () (i)
©) @v) @) @) @)
D) i) @) () (@)

(iii) Water
(iv) Number

X-8

22. Bl o1 91w 207 (=14 (2
(A) GG II5Nifoe
(B) TG &SI S
(C) T SHCTET
(D) TR (e

23, fasferfie wifisma s & @ gae fam
SRGES (& FFF FAC ?
(A) G LI SR
(B) TG (PG
(C) T SHCTET
(D) G A

24, G- @32 ORIl (F AN Q32 2AME ALFS

Oifer-1 ©iferer-11
(a) ™ (i) W
(b) HeeE™ (i) T Rices =g
(c) ST (iii) &=t
(d) ARG (iv) ARy
PO ¢

(@ b (© (@
A) @) Gv) G @
B) @) aGv) (@@ (i)
© Gv) G Gi) ()
D) G @ G >Gv)



25. Consider the Assertion (A) and Reason (R) and

select the correct answer from the codes given below:
Assertion (A) : Itis impossible to conceive a

universe in which number is

not found.

Reason (R) : Number is an extermely
important aspect of things and
forms a fundamental part of
the framework of the world.

Codes:

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(C) (A) is ture but (R) is false.

(D) (A) is false but (R) is true.

26. Match List I with List II and select the correct
answer from the codes given below:

List-1 List-11

(a) Aristotle (i) Transcendental
unity of
apperception

(b) Spinoza (i1) Pre-established
harmony

(c) Leibniz (ii1) Unmoved mover

(d) Kant (iv) Intellectual love
of God

Codes:

(@ () (¢ (@
(A) (i) Gv) () (D)
(B) (i) @(v) () ()
© ) @@ (@Gv) (i)
(D) @v) (i) (1) (1)

27. Descartes pursues the method of doubt which
initiates a move in the direction of

(A) Negativism
(B) Solipsism
(C) Scepticism
(D) Certitude

X-9

09-11
25. FfewEy (A) €% &9 (R)-47 “fafes
ey e sosfe @ Alvs Tealt e ¢
2@ (A) 2 M ([ G GH6 FHICYT
T ST |
I (R) 5 MR T Soy® werge)ef [
3R O] GOIeR ARSI
KA |
PO ¢

(A) (A) &3 (R) 7 €2 (R), (A) G5 A3 12 |

(B) (A) @3 (R) ey, € (R), (A)-7 A5 api2yt
T

(C) (A) 5o 58 (R) fiem |
(D) (A) T2y 58 (R) 797 |

26. ©fFA- 9 OfFEHl G O3R 2Te FFS

Oiferer-1 ©iferer-11

(a) SIREHGe (i) SR STl
Q%

(b) Foitren (ii) K= AmeT
kR

(ORIES BN (iii) fem=5sT sifswia

(d) % (iv) e (e

O ¢

(@ () (¢ (@
(A) (i) (v) (1) (i)
(B) i) Gv) () ()
©) G () @v) (D)
D) Gv) (i) (1) ()
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(A) TRLFIm
(B) SIIGEINAM
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28. “Beaphilosopher, butamidstall your philosophy
be still a man”— is the assertion of

X-10

28. ‘e nfEE 28, [5G (O TE W NS
OFG SE 28’ — @2 TfGl F1a?

(A) 1.S. Mill A @@ o
(B) D. Hume ® . 754
(C) I. Kant
(D) P. Singer (C) 3. F%

(D) fo1. P

29. Match List I with List II and select the correct 29, ©Ifep- 932 OifFm-l (& (e @3 W e2ve

answer by using the codes given below: T 2T I AOF TG ely] Feey ¢
List-I List-II Ol oIferL- 11
(a) Problem of evil (i) Thomas Aquinas (a) SIEST TP (i) < WW
(b) Theory of ideas (i) St. Anselm (b) 4 g (i) GT% ST
(©) Anal‘ogi.cal (iii) St. Augustine () FAPIES o SN (ifi) CT5 o5
predlcatl'on ' () g 3 (iv) &l
(d) Ontological (iv) Plato
argument PO E
Codes: @ G @© @
(@ (b)) () (d (A () G @) (Gv)

(A) () (i) (3ii) (@{v) B) Gy @ 3dv) (i)
(B) (i) () @{v) (ii) © i) @@ () (@)
(C) (i) () (i) (iv) (D) @Gi) @Gv) @ (i)

(D) @i Gv) (@) (D)

30. Consider the Assertion (A) and Reason (R) and
select the correct code given below:

Assertion (A)

30. zfeear7y (A) @R &9 (R)-97 “ifafes
e Moule S Al Tl amE w5 ¢
sfewar (A) ¢ Xow qierered W (2 9

: Humeis anextreme empiricist

in the theory of ideas. FANIE SfoeEea |
Reason (R) : According to him every idea e (R) 2 S o ool aaiz «af
is cfloélmed tltlr.ough ta [irfOCtt:ss qraa 14 T oIe e @ (7R
and the most important factor .
of the process if experience. WFWW @W"i"f fe
Codes: sstosel|
AT ¢

(A) (A) is ture, (R) is false.

(B) (A)istrue, (R)is true and (R) is the correct
explanation of (A).

(C) Both are false.
(D) (A) is false, (R) is true.

(A) (A) 39y, (R) [

(B) (A) 719y, (R) 7e) @3 (R) = (A)-7 73S
R |

(C) wibg e |
(D) (A) 54, (R) 7197 |



31. Match List I with List II and select the correct
answer from the codes given below:

List-1 List-11
(a) Cogito ergo sum (i) Berkeley
(b) Esse est percipi (i1) Aristotle

(c) Per gennus et (iii) Descartes
differtia

(d) Natura Naturatans (iv) Spinoza
Codes:

(@ () () (@
A) ) (i) (1) (Gv)
(B) i) (@) @) (Qv)
© ) @ (i) (Qv)
D) Gv) () (1) (ib)

32. Choose the correct answer from the codes given
below:

Assertion (A) : For Hegel, the essence of
Spirit is Freedom.

Reason (R) : For Hegel, freedom means
little more than the right to
obey the law.

Codes:

(A) Both (A) and (R) are true and (R) is the

correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not the
correct explanation of (A).

(C) (A)is true but (R) is false.
(D) (A) is false but (R) is true.

33. William James, C. S. Peierce and John Dewey
are supporters of which philosophical doctrine?

(A) Representationalism
(B) Positivism
(C) Pragmatism
(D) Empiricism

X-11 09-11
31. Ol @3 OlferHl (e 93] WO 2we
AT R I T Twd e 2
Olferl-1 Olfer-11
(a) Cogito ergo sum (i) IFE
(b) Esse est percipi (ii) SUIREEGe

(c) Per gennus et (i) WIS
differatia

(d) Natura Naturatans (iv) Feicaren
PO

(@ () (¢ (@
A) (1) @) (G @)
B) i) (G G (@Gv)
©) G () (i) (Gv)
D) Gv) () (@) (i)

32. 2fCERRITT (A) 9% N (R)-97 RS
e weeulem S Ais Seaf e ¢

gfoeRFT (A) ¢ OIGR T0o SN FHl T
FIATo! |

JGT(R) ¢ (ZAER Ce FATel 2@
[BRRICGISVES RS RIS
g @ |
HLFO 8
(A) (A) @2 (R) 9b2 9 €% (R) T (A)F
A A |
(B) (A) @2 (R) 462 719 fF€ (R), (A)- AF
1T T |
(C) (A) 1y 5% (R) fi2 |
(D) (A) fie % (R) 7197 |

33. TN &, B @A ST @3k T BT @i
e oM TN FA0o 2

(A) ZSFAW
(B) “orwam
(C) eisRm
(D) wfcwoRm
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34. Whichamong the following is a work of Richard

X-12

Rorty?
(A) The Mirror of Nature
(B) Essays on Radical Empiricism
(C) Understanding Nature
(D) Reflections on Nature

35. What does the ‘other’ mean in Levinas’,
Philosophy of ‘other’?

(A) Signifier which manifests itself in
language

(B) God

(C) Nature

(D) None of the above

36. Which among the following is a book of Willam
James?

(A) Varieties of Religious Experience

(B) A Common Faith

(C) Religion and Rational Theology

(D) Lectures on the Philosophy of Religion

37. Among the following Philosophers who was not
a member of the Vienna Circle?

(A) B.R. Carnap
(B) M. Schlick
(C) O. Neurath
(D) A.J. Ayer

34. fasferfie @b oS afba @t
(A) Tt fiag =15 @i
(B) «ote o e afifsifbren
(C) GIGHER 51

(D) R o4 @I

35. @feara e e v <o <ece
R 2

(A) 63 T ST ORI 2/ IR
(B) 4

(C) zigfe

(D) THARR @D 97

36. fawfeiee azafem sy @Wh S @weE™
GRIK

(A) orRiRbe s fRferfemm aaffaes
(B) @ ¥ (2

(C) Tfefere s arMiwie fREfe

(D) oI o r Reerei s Jiferfere

e~

37. fasfeie neifass e & S JAide-aa vt
ToreTe =112

A) 7. 97, =l
(B) «¥. &<
(C) . =g

(D) 9. (&. G



38. Match List I with List II and select the correct
answer from the codes given below:

List-1
(a) Descartes

List-11
(i) All the materials of
our thinking are
derived from outward
and inward
impressions.
(b) Locke (i) Monads are spiritual
(c) Hume (iii) A thinking being is
that who doubts
(iv) Theideaof cause and
effect is the most
comprehensive
relation derived from
experience.

(d) Leibniz

Codes:

(@ () (¢) (d)
(A) (v) i) () (@)
B) (1) @) i) @{Qv)
©) G Gi) @Gv) (@)
(D) (i) @) (@v) (i)

39. Match List I with List II and select the correct
answer from the codes given below:

List-1 List-11
(a) Wittgenstein (i) On sense and
Reference

(b) Moore (i) The Philosophy of
Logical Atomism

(iii) In Defense of
Common Sense.

(iv) On Certainty

(c) Russell

(d) Frege
Codes:
(@ () () (@

(A) () (1) (i) (@{v)
B) (i) (1) @Gv) (@)
©) (v) (i) () @)
D) () (v) (i) (i)

40. Who among the following philosopher does not
advocate Contract Theory?

(A) Jean- Jacques Rousseau
(B) Thomas Hobbes

(C) Karl Heinrich Marx
(D) John Rawls

X-13
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38. Ofael @R Oifaell (e @R Y 2ne
FAFoufe (2 AT Teg e ¢
Oiferer-1 ©iferer-11
(a) (IS () e o 79
[EERNIE ARSI GERGER
=R g (A
e =71
(b) 5 (i) foweefer sife
(c) f&Gw (iii) @< PE™= e
HGLRCIECARIBRECE
A
(d) =zIFE (iv) FE @R FICER
SIERIFPRE (Kgical
Sfees| e ANiaT
el
HLP©

(@ b (© (@

(A) (Gv) @) G @)
B) @) @G) Gi) o (@Gv)
(C©) G i) Gv) @1
(D) @Gi)) ()  @Gv) (i)
39. O @R OIfFE-l-& (@@l 93 w 2ne
TS AR FCE ATDS T& el ¢
Oifer-1 ©iferer-11
(a) TRBLSPHIRA (i) S G SIS (FICa™
(b) 7 (ii) Tt fereTerfes oI aAferle
SRR
(c) T (i) 2 T S/ Fe™
(d) Feal (iv) ST AGH
PO ¢
@ b © (@
(A Gy @) Gi)  (v)

B) @) aG)  Gv) (@)

©) (@v) i) 3G ()
D) @ @Gv) i) (i)
40. FwfeTRe wfasme T @ Fo13 e Fer
A 2
(A) 1l S e
(B) <7 23
(C) it gEmfae sl
(D) o« T
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41. Choose the correct answer from the codes given
below:

Assertion (A) : Non-apprehension is not an

independent source of
knowledge, according to the
Buddhists.

Reason (R) : Non-apprehension is a
probans according to the
Buddhists.

Codes:

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(C) (A)is true but (R) is false.

(D) (A) is false but (R) is true.

42. Nozick’s entitlement theory of justice accords
all the principles except

(A) the principle of justice in acquisition
(B) the principle of equality of opportunity
(C) the principle of justice in transfer

(D) None of the above

43. Following statements are either True or False.
Examine these and find the correct answer using codes:

(a) Wittgenstein made a distinction between
M predicate and P predicate.

(b) Moorerelies onordinary language in order
to defend commonsense beliefs.

(c) Strawson believes in the analysis of
ordinary language in order to get a glimpse

of reality.
(d) Ryle initiates category mistake.
Codes:

(a) (b) (© (d)
(A) False True False True
(B) True False True False
(C) True True False False
(D) False False True True

X-14

41. iR Mol AR AP Seals e ¢
2Hee@NTT (A) ¢ (A7 NCS A2 & ToF

2o 77 |

e (R) ¢ (@ SCo SaG 930 @9 |

NAICH

(A) (A) @2 (R) 9b2 97 €% (R) T (A)F
AT A |

(B) (A) 4=k (R) 462 71 € (R), (A)-31 #<
1= |

(©) (A) 719y f&e (R) fa|
(D) (A) fayl 7% (R) 719 |

42. Fifgs-a3 TEleEs o vg TEkike
eaeler iy 9t Tol el T @ | @I ==

(A) wIfgazs W@g s Sife
(B) AR I FRGFIE e

(C) FWfel @ e afamia dife
(D) THARR @D 97

43. WIS Te 27 (True) T (False) |
T 21971 0 0T 2ne Aced MR AT Tad
e

o
o

(a) TBH(OMPHR M-predicate 938 P-predicate-
G W GG #A19 FEH |

(b) TR AaiFe Ry PTCE L FA1F (F0a G
ORI @l foq SafRE |

(c) ZW e ITF AR T @GN S

facsrce foreiiot seicen |
(d) 3T e bl AR |
TP ¢

(a) (b) (c) (d)
(A) False True False True
(B) True False True False
(C) True True False False
(D) False False True True




44. Kierkegaard speaks of human existence in terms
of

(A) Aesthetic existence, ethical existence and
religious/ philosophical existence

(B) Aesthetic existence, ethical existence and
transcendental existence

(C) Good existence, bad existence and
inauthentic existence

(D) Authentic existence, inauthentic existence
and philosophical existence

45. Sartre speaks of all of the following modes of
being except :
(A) Being in itself
(B) Being for itself
(C) Being above the world
(D) Being for others

46. What, according to Frege, constitutes the
difference between the two statements ‘Aristotle is
Aristotle’ and ‘Aristotle is the teacher of Alexander’?

(A) In respect of sense

(B) In respect of reference

(C) Inrespect of sense and reference
(D) In respect of none

47. Which is acceptable to Kierkegaard?
(A) Truth is objectivity
(B) Truth is subjectivity
(C) Truth is correspondence
(D) Truth is what works

X-15
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44. FERENE MK SRS G IR

(A) Wiy, (Hies oy ik 457/ mfs
IR

(B) W wif¥y, ("fes TRy @R wfeel

ey
(C) we Twy, Tve Tiey g SR wfkeyg
(D) TN wfEY, s wReyg 3k nifa<s wiiey

45. e fafie gaelE W A 3t Tl
TR TR T | G 26

(A) Tt Tl

(B) Ff$a 7al

(C) Tole Tfsfae el
(D) =177 31 JfeTel

46. TSRS SO0 T SIf00e @R SifRPo56
o SIEHIIER F 6 @2 I64 qioa AT @ J 2
(A) Sl fJaem
(B) a5y <A
(C) 3By 3R iy fa
(D) (FIel e

o~

47. fasfafes @Rt [Faanss S azeig e
(A) 9y =& el
(B) 9y 2= faadirel
(C) 19y 261 AT
(D) %) O3 I FFA
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48. Match List I with List II and select the correct
answer from the codes given below:

List-1 List-11
(a) Russell (i) Phenomenological
reduction

X-16

48. TCH ave 7Fe IR IR 193RI Sl geral
T Ted Hize e ¢

(b) Quine

(i1) Fundamental

ontology

(c) Husserl (iii) Epistemology
naturalized

(d) Heidegger
Codes:

(@ () (© (@

(A) @(v) @) (@) (D)

B) @(v) () @) (ii)

© @ G (i) @Gv)

D) @Gv) G (i) (@)

(iv) Theory of description

49. Match List I with List II and select the correct
answer by using the codes given below:
List-1 List-11
(a) Richard Rorty (i) Concept of Truth
(b) Immanuel (ii) Critique of
Levinas representationalism
(¢) William James (iii) Ethics as a first
philosophy
(d) John Dewey (iv) Varieties of Religious
experience
Codes:
(@ () (© @
(A) () (@Gv) (@) (i)
B) (i (i) @Gv) (@)
(© (i) @v) @G (@)
(D) () (i) @ (@)

50. The core concern of hermeneutics is
(A) reading of a text
(B) interpretation of text
(C) finding out of a text
(D) None of the above

©IferA)-1 ©IferPL-11
(a) SO (1) <Epreld Feieg<sad
(b) IS (i) GTfers wefmrl/
SRR
(c) T (i) FoRal S«
(d) FEewa (iv) Ffreg
TP 8

(@ b (© (@
A) @Gv) @G @ >
B) Gv) G @ (i)
© @® Gy @G o 3Gv)
D) Gv) G ) (1)

49, OfeFFE- @R OfFEHl e @R Wy 2ne
PO BT I AT Teq e 2

Oifer-1 OIferLII

(a) faore 36 (i) FCT5 SFGL

(b) T e (i) f&hos o
fcescomifers

(c) TIfTIN (orr (iii) «@fes sE @ TP
fepeTaifes

(d) = feeg (iv) oraiEfe o
fafeferam asfsifae™

FLP©

(@ b (© (@
A) G Gv) (@) (i)
B) G G Gv) @)
© G @Gv) @G @)
D) G G @) Gv)

50. FiTee & R0 261
(A) g 15 1
(B) *I1Fa SRy
(C) g Spraie T4l
(D) THARR @D 97



51. Match List I with List II and select the correct
answer from the codes given below:

List-1

(a) Perception

List-11
(1) vrddhavyavahara
(b) Inference (ii) sadrsya
(c) Comparison (iil) paramarsa
(d) Testimony
Codes:
(@ () (©) (@
(A) (iv) (i) () ()
B) @(v) (1) 1) (i)
©) (@v) Gi) (1) (i)
D) Gv) (1) (@) (i)

(iv) Sannikarsa

52. All of the following themes are related to
Husserl’s phenomenology except

(A) Reduction

(B) Intentionality

(C) Auto-constitution of self
(D) Genetics

53. ‘~ O’ follows: validly from the two premises
‘O D P’ and ‘P o ~P’ by the application of the
following rules:

(A) Simplification, Modus Ponens and
Tautology.
(B) Tautology,
Implication.
(C) Implication, Tautology and Modus Tollens.

(D) Disjunctive syllogism, Implication and
Double Negation.

Double Negation and

54. The basic difference between a deductive and
inductive argument lies in respect of

(A) nature of the premises
(B) nature of the conclusion

(C) change in the status of the conclusion with
the addition of new premises

(D) None of the above

X-17
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51. @l 932 Ofd-Il (Tl G98 2na Lo e
IR (D AS Ted W ¢

©iferer-1 ©iferer-11
(a) 2= (i) FaT727
(b) S (ii) 77
(c) T (iii) =T
(d) ==y (v) T
IRCPO:

(@ () (¢ (@
(A) (v) (i) (1) (1)
(B) @(v) (i) (@) (D)
(©) Gv) (i) @) (i)
D) Gv) @) (i) (i)

52. fagfeiie Ranefem e b go ez e
SROPRIME S%sfe

(A) ol
(B) wfezrmel
(C) S Ffifesae

(D) Tfere Tesife faamss/fAade

53. fsfiie el ga@is s ‘0 o P a®
‘P> ~P «3 YL IEAR (AT ‘~ O’ 92 I5e (IO
fAspe =7 ¢

(A) Simplification, Modus Ponens €<}
Tautology.

(B) Tautology, Double Negation «<d%
Implication.

(C) Implication, Tautology @<t Modus Tollens.

(D) Disjunctive syllogism, Implication €<%
Double Negation.

54, SRAR G3R WER IFET T4 A1y 23

(A) IR 70l
(B) Praitsd F<mol

(C) Tom IR TR el Praice s
Afaew

(D) THARR @D 97
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55. If A and B are true statements and the value of
X and Y are not known, what would be the truth-value
of the statement— (B v A) . (X v ~ A)?

(A) True

(B) False

(C) Not known

(D) None of the above

56. An argument is valid when
(A) its premises are true.
(B) its conclusion is false.
(C) one of the premises is false.

(D) the premises and true and conclusion is
false.

57. Match List I with List II and select the correct
answer from the codes given below:

List-1 List-11
(a) All scientists are (1) (x) (Sx o Px)
philosophers
(b) Aristotle is a (i) Pa
philosopher

(c¢) Some Greeks
are philosopher
(d) No apples are
orange
Codes:
(@ () () (@
A) @ () >Gi) Gv)
B) (Gv) (i) @) (i)
© ) @ (@) (iv)
D) (1) @i (1) (Gv)

(i) (3x) (Gx. Px)

@iv) (x) (Ax >~ Ox)

X-18

55. I A @32 B Toy3 e I54 27, €2 X @3 Y-
FRE il Al LA, O (B v A) L (X v ~ A2
I5AGF AT F 2032

(A) %

(B) gl

(C) wTeErs

(D) THARR @D 97

56. 93 Ife (74 27 ILT—
(A) S el 7oy 27 |
(B) w7 Pravei e =7 |
(C) @ @I @36 giea= fen =311
(D) el 7oy @3 Prae® W =11

57. E awe e IR IFE@ OfTFH @R
Sl €3 GERIPRT AT (ST fefa e ¢
©ifer-1 ©iferer-11
(a) e (I (i) (x) (Sx > Px)
o il
(b) =fEPEoa
GG Tffes
(c) @ It fae
RGDRIUIDE
(d) I A2
A 7
HLFO 8
@ () (© (@
(A) () (@) (i) @[Qv)
(B) Gv) i) (1) (i)
(©) Gi) (1) (@i) (iv)
(D) (i) @ii) (i) (@v)

(i) Pa
(iii) (3x) (Gx . Px)

@iv) (x) (Ax D> ~ Ox)
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58. Which among the following is the correct
representation of ‘There are white elephants’?

e
i 8
© E@W
(D) E@W

59. Consider the Assertion (A) and Reason (R) and
select the correct answer from the codes given below:

Assertion (A)  : Gandhi suggests that when an
individual has more than his
proportionate portion, he
becomes a trustee for that

portion for God’s people.

Reason (R) : The wealthy should not be
dispossessed  of  their
possessions, because that
would imply resort to violence.

Codes:

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not the
correct explanation of (A).

(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

60. Determine the correct symbolization of the
following sentence:

If Argentina mobilizes, then Brazil will protest
to the U.N. unless Chile calls for a meeting of all the
Latin American states.

(A) A>(BvC)
(B) Bo (A vC)
(C) AS(B>C)
(D) A>(B.C)

58. iR Pawle s @t s 2fe s @3
AR @R 2

wed) M
w e
© E@W
(D) E@W

59. zfeee 97 (A) 9R I (R) €3 e
ey SRRk Araon gagaacE AT Ted e ¢

2ifeest 7T (A) ¢ SR A (@ T4 @ TE
S ol St Sieaa &) (%
Sfefe Titra Ife 2 0T |
JE IFT(R) ¢ 4RICP O 379/ (A0 A 4l
Tfow 73 el ot 2o #iafre
20 AN |
TIPS
(A) (A) 9 (R) BTG €3R (R) T (A)-TA(5F
1 |
(B) (A) @R (R) 762 9] 5% (R), (A)-3 AT
T T |

(C) (A) 19 fFg (R) e |
(D) (A) ™t 8 (R) 797 |

o e

60. EGTRe AFHaARDT deiFITa (T ©f N
e

If Argentina mobilizes, then Brazil will protest
to the U.N. unless Chile calls for a meeting of all the
Latin American states.

(A) A>(BvC)
(B) Bo(AvO)
(C) AS(B>50)
(D) A>(B.C)
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61. Mark the correct symbolization for the given
sentence:

Foremen and foremen alone are competent
workers (Fx, Cx)

Symbolization:

(A) (x) (Fx o>~ Cx)

(B) (3x) (Fx=Cx)

(C) () [(Fx v Fx) o Cx]
(D) () (Fx = Cx)

62. Which among the following is the ‘> form of

poq?
(A) (~~pv~q
B) ~p-~9)
©) ~Cp-~q
D) ~pv~q

63. Which of the following is not a method of
testing the validity/invalidity of arguments?

(A) Truth-Tree Method

(B) Truth-Table Method

(C) Venn diagram Method
(D) Method of Indirect Proof

64. Which among the following is valid?
(A) (@x) Sx
(x) (Px 2 Sx)/ .. (Ax) Px
(B) (Fx) Sx
x) ~Sx/ .. (x) (Sx > Px)
(©) (x) (Px> Ox)
x) (Ox 2> Rx)/ .. (x) (Rx D Px)
(D) 3x) ~ Sx
(x) (Rx > 8x)/ . (Ax) Rx

X-20

61. Fsfie Renelr W awe qmiba 32

(Y [ e
AO[P[FAUDCSF DA P ¢

#gwe JIy ¢ Foremen and foremen alone are
competent workers (Fx, Cx)

o ¢

(A) (x) (Fx>~Cx)

(B) (3x) (Fx=Cx)

(C) (x) [(Fx v Fx) o Cx]
(D) () (Fx=Cx)

62. Fuferie fRemafed S p o ¢ @3 /IFR0T
-5 (I 2

A) (~~pv~q)

B) ~(p-~q)
© ~Cp-~q
D) ~pv~q

63. fasfefee Remafem g @At Ifem e/
S| [GIET afe 32
(A) oI Afs
(B) FTerTRa o1&
(C) ceafbg afe
(D) AEFF A simfs

64. faxfefie gfeufer s @MW @ae
(A) (@x) Sx
(x) (Px > Sx)/ . (Ax) Px
(B) (3x) Sx
x)~Sx/ .. (x) (Sx D Px)
(©) ) (Px> Qx)
x) (Ox > Rx)/ .. (x) (Rx D Px)
(D) (Fx) ~ Sx
(x) (Rx o> Sx)/ .. (Ax) Rx



65. Which one of the following puranas contains
the dialogue between Narada and Yudhisthira on
Asrama dharma?

(A) Bhagavata purana
(B) Agni purana

(C) Brahmanda Purana
(D) Vayu Purana

66. Which of the following is the correct
symbolization of the statement ‘Somebody is loved by
everybody.” When xLy means ‘x loves y’?

(A) (x) 3y) xLy
(B) (3y) (x) xLy
(C) (3y) (3x) xLy
(D) (3x) (y) xLy

67. The Arthasastra deals with
(A) Statecraft
(B) Economic policy
(C) Military system
(D) All of the above

68. Consider the Assertion (A) and Reason (R) and

select the correct answer from the codes given below:
Assertion (A)  : Capital punishment is an

extreme form of punishment.

Reason (R) : The threat of this punishment
will deter people from
committing crime.

Codes -

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true and (R) is not the
correct explanation of (A).

(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

X-21
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65. fFEfeie sl swg @Atee oy
faca Trw @3k Iffcam FeteeE fRiys T

(A) Sl
(B) wifalsjret
(C) el
(D) <rgefel

66. HRTe REmelm ey @G ‘Somebody is
loved by everybody’-€2 I54104 AT 2SIFIA, ([
‘xLy’ 6109 (@RI ‘X y-CF SR 2

(A) (x) (3y) xLy
(B) (3y) (x) xLy
(©) (3y) (3x) xLy
(D) (3x) (v) xLy

67. SIE-T SISy = =
(A) AgAIfe
(B) wifs
(C) ANfES gl
(D) THEe ey

68. zfowe 377 (A) 9R I (R) €3 sifacafre
e Mosl @ AT Tea @ ¢

gifees T (A) ¢ Tome =7 baTos o |
e ITR) 3 @2 e TR A S
1 (A [To A4 |
PO 3
(A) (A) 3% (R)¥6Z e @R (R) T (A)-T AT
T |

(B) (A) 9% (R) 462 %), €% (R), (A)-3 AT
1 7T |

(C) (A) =& 19 % (R) T |
(D) (A) == fien 58 (R) 9y |
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69. ‘Tirukkural’ is written by
(A) Thiruvalluvar
(B) Radhakrishnan
(C) Parthasarathi Rangaswami
(D) M. S. Golwalkar

70. What does the ancient concept of Dandaniti
consist of?

(A) A branch of knowledge, dealing with
justice and injustice.

(B) The rules that one needs to adhere while
punishing others.

(C) Both (A) and (B)
(D) None of the above

71. “Woman is not born, but made”— is the
statement made by

(A) Mary Wollstonecraft
(B) Emma Goldman
(C) Simone de Beauvoir

(D) Luce Irigary

72. Ethical principles in support of abortion do not
include—

(A) A woman'’s right to autonomous choice.

(B) A woman has no moral obligation or duty
to carry a foetus.

(C) Fertilisation does not bestow moral status
on a foetus.

(D) Abortionis of utilitarian value to a woman.

X-22

69. [CFgweT O3 (F14F FE
(A) feFoEeR

(B) SaiFaeH
(C) =N<Fr=fe e
(D) GN.G. (SNTSTAF

70. A5 ‘Fayifer et e @abe aam
L2

(A) I @30 =i T ke @R SfeE
@ S FE |

(B) TTa=@fer 1l RS SIPR@E ne Wi FIE
S PR BT |

(C) (A) €k (B) 762

(D) T3 @FoE o

71. TR TEREL 9 WS s w— @
AR

(A) (I CHAGGEFITG
(B) @ (airTsyie

(C) Pr= W @i
(D) =11 2faeinfa

72. Sheolited ML (Wfes i S @Wb
AZECAN9 T ¢

(A) Tiemm =7+ »lev @ T wfg |

(B) IS T2 I (I (0 ol
T FE (73 |

(C) FireTae Qo (@I (hoT SR (R 1 |

(D) VT T2 TSI SIS &7 w0z |
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73. Following statements are either True or False. 73. fsfeiie Tearefe 2oTer (True) =2 N2l (False) |
Examine these and find the correct answer using the G2 ARG A g kRS Je R I Ao
given codes: Teals e ¢

(a) Intuition means for Kant nothing but an
immediate cognition in which the object s

(a) FICHI ACS R TF AFFIL AT e A

L o srapifreNE ewe)

given directly. P
(b) Accordingto Hume, all a priori judgments (b) R .WWWSWWWW@WW

are propositions concerning relations of T R T

ideas. (c) IS A S @ F AFoz P
(¢) Leibnitz maintains that all a priori SRR TeT SIS TR SR 7T |

judgments are not judgments of identity. (d) FREN T FET @ oFe Pra s
(d) Quine argues that synthetic a priori TR SZ |

judgments are there. e

Codes:

(a) (b) (©) (d)
(A) True False True False
(B) False False True True
(C) True True True True
(D) True True False False

(a) (b) (c) (d)
(A) True False True False
(B) False False True True
(C) True True True True
(D) True True False False

74. Which of the following pairs is not true? 74. fasfaie @reslem S @Wb Al e
(A) John Stuart Mill— Rule Deontology (A) T 3505 flet— e Sifsfmia o
(B) Peter Singer— Preference Utilitarianism (B) Ti51a Prm— siww fofes Somifrerm
(C) John Rawls— Veil of ignorance (C) & TNTH— ST ST
(D) Immanuel Kant— Reflective Equilibrium ' ) ' .
. (D) TR Fo— efforlere ATRTEl

75. Match List I with List Il and select the correct 75. Sl - R @3k M are e el
answer by using the codes given below: AT T AE (&G olofar ey ¢
List-1 List-11 O] ©iferLll
(a) Propositional Logic (i) Truth, Tautology (a) < el () erel, FshilE
(b) Set Theory (ii) Possibility, (b) G o8 (i) TS, SR
Modal Loei 11:14ece]s3s1tyh' (c) WiEgF el (iii) FTel, SeE&
(c) Modal Logic (ii1) ! em .ers 1p, d) =@ {%ﬁ@m (iv) Hoifs, Frog
inclusion —
(d) Meta Logic (iv) Consistency, ' (') ® © @
a c
ind d
HEEPEREEnee @A) () (Gi) GiD) (V)
Codes:

®) ) Gi) () ()
@ ® © @ © G(v) Gi) GiD) ()

(A) (@) ()@ (v) ) GiD) (v () (i)

®) O Gi) () ()

© (v G Gi) @)

D) (i) (v) () (i)
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76. Match List I with List II and select the correct

76. CIfFE-lS G-Il (A @3 N0 ane Ao

answer from the codes given below: [T I ATGF (&G el Foepet
List-1 List-11 O] ©iferll
(a) Hinduism (1) Local beliefs (a) @gﬁf () B ETRs R
(b) Christi'anity (11) Testament B (b) 2551 &5 (i) &S
((Cl) ?‘ff}di‘:“; ' (ait) z}fzig""“dg”a () & il (i) ©aR7aTer
(d) Tribal Religion (iv) Nikaya ) s (iv) G
Codes: S
@ b © @ R
(&) (v) (i) (i) () PR
B) (i) (v) (1) (i) ®) (i) (v) @) G
© i) () @Gv) (@ © i) G Gv) @)
D) (@) @) (i) (1v)

D) @) @) aGi) @)

77. Normative ethics mainly emphasises on 77. Sy MfeRwa g4 wwyg ge
(A) to formulate a grand norm for evaluating
all of our voluntary actions.

(A) SN e @ (TR e o)

_ e Sl fevefigrel il |

(B) to determine the truth-value of moral P
judgements. (B) T SRieels sope e e |

(C) todevise different methods for evaluating (C) Rfer waem o= SETRICS &y Jfen
different types of activities. e W=mole 11

(D) to analyse moral concepts.

(D) fes gieiafers Roaae 4t

78. Metaethics is specifically interested in 78. wifafmia R axersl 2o
(A) analysis of moral concepts. (A) tfes gretelm [ 5
(B) analysis of meaning of moral judgements. (B) o< St wiel s 5t |
(C) methodology of moral investigations.

C A o o
(D) None of the above ((D; ;%—q— ﬂ*‘W’W "1:;% el 5411




79. Which among the following statements are True?

Choose the correct answer from the codes given below:

(a) Vyaptiisdetermined by anvaya-vyatireka,
according to the Naiyayikas.

(b) Vyapti is based on effect-cause relation
and the relation of identity according to
the Buddhists.

(c) Vyaptibeing formulated on the perception
of a few individual cases cannot be valid,
according to the Carvakas.

(d) The locus itself is sufficient to establish
antarvyapti according to the Jainas.

Codes:
(a) (b) (© (d)

(A) True True True True

(B) True False True False
(C) False True False True
(D) False False False False

80. Dialectical materialism does not admit the
principle of
(A) unity and conflict of the opposites.
(B) from quantity to quality.
(C) double negation.
(D) the negation of negation.

81. Which of'the following is notaform of marriage?
(A) Monogamy
(B) Polygamy
(C) Polyandry
(D) Androcentricity

82. All of the followings are different types of
democracy except

(A) Direct Democracy
(B) Social Democracy
(C) Liberal Democracy
(D) Minority Democracy

X-25
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79. fasfeiie aerefes s @0 197 (True) 2
e MO AR 70T Tex fe 2
(a) AR re sEERfecEs wial ife fEifas
|
(b) (T We Aifesa Fofes za FITFe 795 93
SR A= |
(c) B e e e Foul R oweaa
AT THAT FTSae O (@4 717 |
(d) To 0o eSS Bloie w2 A |
PO ¢
(a) (b) () (d)
(A) True True True True
(B) True False True False
(C) False True False True
(D) False False False False

80. =iz Igam ifs <l 7 i
(A) Refirom @ @< Ao |
(B) AR (A @ |
(C) o Tz |
(D) Tt fcax |

)

RS ARG 72

82. fanfeie fReaelm Sy @t oMo SFyafe
sjrerEd fafen o

(A) AR 9reg
(B) A& siereg
(C) TvF serog
(D) FR2ETY Slefoq

[ Please Turn Over ]
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83. The differences between the liberal and the

radical versions of feminism can be understood in
terms of

(A) Inclusivism/ exclusivism
(B) Acts of ommission/ acts of commission

(C) Reformation/ revolution
(D) All of the above

84. Which among the alternatives does not signify
multiculturalism?

(A) Itisafairer system thatallows differences.

(B) It emphasises on extreme individualism.

(C) It is associated with the ‘politics of
recognition’.

(D) Italso favours ‘identity politics’.

85. Match the followings, and say which is the
correct option?

(a) Bio centricism (i) Aldo Leopold
(i) Paul Taylor

(iii) Peter Singer

(b) Eco centricism
(¢) Animal rights
(d) Animal welfare
Codes:
(@ () (o)
(A) (1) Gi) (@v) (i)
B) (i) @) (@Gv) (ii)
©) (@v) Gi) () (@)
D) @Gv) (i) (i) (@)

(iv) Tom Regan

(d)

X-26

83. THIFAT @R AT W3 AP AT W&
N @R TR [eFlie mfeoq g

(A) swefe/ fzEad

(B) azreis T/ qwica faran
(C) TN/ e “Afse
(D) Toltza A58

84. afeTiie RFselr S @A I@FsamE
T = 12

(A) @it @3> TFTea e A A= i
G O |

(B) «ft 53w wfexiogam wFg (7 |
(C) @fb “Politics of recognition’-93 (X TG |
(D) @fb “identity politics’-€3 2/ |

85. iR el 2w AT (are W o ¢

(a) (SAUS! A () = fTess
(b) =Ffe Flmolam (i) &1 GoTa
(c) = wfga (iii) 5= P
(d) 2@ Tl (iv) B s
IRCPO 3
@ () (© (@
(A) (i) (@) @Gv) (iii)

(B) (i) () (@v) (D)
(©) Gv) (i) @G (1)
D) Gv) () (i) ()




86. Consider the Assertion (A) and Reason (R) and

select the correct answer from the codes given below:
Assertion (A)  : The Naiyayikas believe that
God is one, infinite and eternal.
Reason (R) : Space and time, minds and souls
does not limit Him.
Codes :
(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).
(B) Both (A) and (R) are true but (R) is not the
correct explanation of (A).
(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

87. Which among the following sentences is not
true?

(A) The Buddhists believe in a creator God.

(B) The Naiyayikas believe that God is the
creator of the universe.

(C) The Samkhyas believe that the world is an
evolution of Prakrti.

(D) The Carvakas deny the existence of God.

88. Which of the following statements are true?
Choose your answer from the codes given below:

(a) According to Yoga, there are four kinds of
samprajfiata samadhi.

(b) Bhatta Mimamsakas hold that whenever
knowledge arisesitrevealsitself, its objects
and the subject.

(c) Thenon-inherentcause (asamavayikarana)
of adyad (dvyanuka) is the conjunction of
atoms according to the Nyaya-Vaisesika

thinkers.
(d) For Kumarila, cognition is an action.
Codes :
(a) (b) (c) (d)
(A) True True False False
(B) True False True False
(C) True False False False
(D) True False True True

X-27
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86. zfowe 377 (A) 9 I (R) €3 sifacafre
afRe AgFoui @ T e e ¢
gfow I (A) ¢ RREa 0N FEE @ e
Gp, I[T® G2 ey |
S I G I, Wl G Sl
O Afe T |

& T (R)

PO ¢
(A) (A) €% (R) T2 7, (R) T (A)-F AT
T |

(B) (A)43 (R) Twd 71wy, 58 (R), (A)-99 7S
0 T |

(C) (A) 9y, € (R) Wl
(D) (A) fiem, 58 (R) 91

87. fanfaiiie amefem Sy e oy w32
(A) (&l T8 5
(B) IRl TeAcE Telted e e

T |
(C) M=l R e (@ Gole. Ao Ao
A |

(D) Sl FEET WEG SR FE |

88. afeiie Imale™ Sy @t Aoy ? ey 2ne
HFofETa AR AIE Teg Mo F%Ee ¢

(a) GTI91 S(CS F2eare 7Y B 29 |

(b) ©IF T 0o @ TesAfs Fieet e,
RIS @R IS 2F I |

(¢) T R w0 0o B ST
19l BT #A=IaI9 HALCS |
(d) T e @ &= |
FLP©
(a) (b) (c) (d

(A) True True False False
(B) True False True False
(C) True False False False
(D) True False True True
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89. Whichof the followingis notabranch of applied
ethics?
(A) Medical ethics
(B) Business ethics
(C) Metaethics
(D) Political ethics

90. Jyotiba Phule’s Satyashodhak Samaj was to

(A) focus on rights of oppressed groups such
as women, the dalit and the Sidra.

(B) campaign for the spread of rational
thinking.

(C) reject the need for priests.

(D) All of the above

91. Which of the following are True. Choose your
answer from the codes given below.

(a) Krishnamurtiaccepts thatawareness is the

silent and choiceless observation of ‘what

L)

is’.

(b) According to Tagore manhood means
social service.

(c) For Vivekananda ananda lies in love.

(d) Integration in the philosophy of Sri
Aurobindo means ascent through descent.

Codes:
(a) (b) (©) (d)

(A) True True True True

(B) True False True True

(C) False True False True

(D) False False False False

X-28

o

3 ?

(A) Pfew e Tifskm

=

~

(B) Il W& Nifsfam

(C) wfyifs Rwt

o~ ~

(D) FEifs e Tfsfw

89. e Remafem @t w9l Afe

-~

91. H e EoaiE <R F OF
@I 795 (True) efa e ¢

[

GRS

90. (SIS FETR FOr4E -9 Gty et

(A) TGS Mz @ I, wfers @3 J@ma
S AR ST |

(B) [ifas B 2519 ¢ &9 |
(C) e el ST |
(D) Toltad FRlEE

s qimafera

PO ¢
(a)
(A) True
(B) True
(C) False
(D) False

(b)
True
False
True
False

(©)
True
True
False
False

(d)
True
True
True
False

(2) RS A FE @ (GOl Z& T @R O
e q3R AW AR~ |

(b) FAGNCLT S¢S e S 2 TG Tl |
(c) TREIPITW T FF AW (AR Ty AT |

(d) Ao (e e =5 Seeeld Wy Mo
TER |



92. Which among the following is not the character
of self, according to Igbal?

(A) Freedom

(B) Immortality

(C) A series of activities

(D) Attraction and distraction

93. Whose name is associated with the ideology of
Total Revolution?

(A) S.P. Narayan

(B) J. P. Narayan

(C) K.R. Narayan
(D) None of the above

94. Match List I with List II and select the correct
answer by using the codes given below:

List-1 List-11
(a) Nyayalilavati (i) Vallabhacarya
(i1) Siddhasena-Divakara
(ii1) Dharmakirti
(iv) Sridhara

(b) Nyayavatara
(c) Nyayabindu
(d) Nyayakandali
Codes:
(@ (b () (@
A) @ () >Gi) ()
B) (1) (@) (@v) (i)
(©) Gv) (i) (i) @)
D) @) (Gv) (1) (i)

X-29
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92. 3FAIETE e [ Sffiie @b wsia @ iEy
a2
(A) F&Te!
(B) wrrRY
(C) TG[ 2=

(D) S ¢ faefel

93. M M@= giFes 710 FI9 W G 2
(A) @1, fof. =rze
(B) (w. f#l. Traet
(C) . ==, TRRel
(D) THEF FC I

94, ©IfFF-1 Q3R OIferpl-I G S OFe| (A et
RS AN FCF A Tadl 5T et ¢

©iferer-1 ©iferer-11
(a) “TIRAETS! (i) e
(b) TR (i) Prace s
(c) =rafv (iii) RIS
(d) TEwE! (iv) S«
IRCPO 3

(@ () (¢ (@
A) 1) () (i) @)
B) @) (@) (@Gv) (D)
(©) Gv) (i) @G (1)
D) () (Gv) (i) (i)
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95. Who makes a distinction between Subject as
free and Subject as freedom?
(A) Radhakrishnan
(B) Rabindranath
(C) K. C. Bhattacharya
(D) J. Krishnamurti

96. Ambedkar opposed the caste system prevalent
in India because it is:

(A) aforeign innovation.

(B) vedic heritage.

(C) creating social discrimination and
inequality.

(D) supported by the Smrtis.

97. ‘We want neither capitalism nor socialism. We
aim at the progress and happiness of Man, the Integral
Man.”— Who says this?

(A) M. K. Gandhi

(B) K. C. Bhattacharya
(C) D.D. Upadhyay
(D) B.R. Ambedkar

98. The name of the political theory of M. N. Roy is
(A) Democratic Humanism
(B) Radical Humanism
(C) Liberal Humanism
(D) None of the above

X-30

95, FIH weol [T @R AT W TR @2
MfT & T2
(A) TaIFRe
(B) Im=iel
(C) F3evm IR
(D) (o F2f$

96. SNTIHA SIS abfere 3 FF [eaife
BGI PGSO
(A) «ft Koo Tee |
(B) s @fex|
(C) IS (I € (SMITew % F |
(D) gfS =@ =@l TS|

97. SIS e il ANSAME HIZal | SR o7
TFET s @3 374, sl W— «ft FF T2

(A) @ . AR

(B) . 1. SGmR
(C) TS. . Tt
(D) 2. =9 SiEwea

98. @l . AR AGATST NGAIWR T
(A) soroifEs TeTem
(B) 5Iw9E WwToRAM
(C) TV=R=E Ta<eam
(D) THARR @D 97




99. “One caste, one religion, one God for man; one
form and the same blood in all; I cannot find any
difference.”— Who proclaims this?

(A) D.D. Upadhyay
(B) Joytiba Phule
(C) Narayan Guru
(D) B.R. Ambedkar

100. In which of the following books does Moulana
Azad deal with his social and spiritual life?

(A) Freedom at Midnight
(B) India Wins Freedom
(C) Gubar-e-Khatir

(D) None of the above

X-31
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99, I Gy GFT0 39, 46 4, (B %47, FFER
O9F B GR 9F TE; S G oA e
AR N @ FA (F TEH—

(A) TewEsT S
(B) cerifeat et

(C) el @z

(D) 2. =9, SitEwa

100. fasfee agelm Sy @EEhee e Siem
o7 e € S G REE vl S 2

(A) fFes = fieizs
(B) Efm T2 ferow
(C) w3g-3-4ifeq

(D) THARR @D 97
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